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2.1

HERETEEEIVY R

bispect AV F

* binspect VY REEZX5NTzBoolIHZHRILL, BPITVWEICTBILEElC TZDEZ

bresolve {° bguess VY ¥ ROBEANRE UL THEET S.

- BX

binspect ¥ > K ::= binspect [in <ModuleName>]: <term> .
T, <term> (FEHAHIAHEY 1 —JLBOOLTEESNZY — k Bool DIEETRK(FNIEE S
LY.

-« RITHI-1

binspect in NAT : (N1:Nat * N2:Nat) = (N1:Nat * N3:Nat) implies N2 = N3 .

(((NT * N2) = (N1 * N3)) implies (N2 = N3)):B ool
--> (((N2:Nat * N1:Nat) = (N3:Nat * N1)) xor (true xor ((N2 = N3) and ((N2 * N1) = (N3 * N1)))))
** Abstracted boolean term:
(('P -1:B ool and ‘P -2:B ool) xor (‘P -1 xor true))
where
‘P -1 = ((N2:Nat * N1:Nat) = (N3:Nat * N1))
‘P -2 = (N2:Nat = N3:Nat)

« HEEDMEM (P -1:B ool and ‘P -2:B ool) xor (‘P -1 xor true) &U\>S XOR IEXF (C A

M, F7z N2:Nat = N3:Nat DL SKEEDIEE ‘P -1 EVWSERUEH(CERINEAEDBEN
EOBRBJPEI NP ITVNELSICHEo>TVS.

-« RTH1I-2

CafeOB J> binspect in NAT : (N1:Nat = N2:Nat) and (N2:Nat = N3:Nat + 1)
implies (N1 = N3 + 1) or (N2 = N1) .

(((NT = N2) and (N2 = (1 + N3))) implies ((N1 = (1 + N3)) or (N2 = N1))):B ool

--> true



** Abstracted boolean term:

true
s FoBlnLSIC, BBERD true (X false L BBEEE ZFOEXRTINS.
- £1761-3

CafeOB J> binspect in NAT : (N1:Nat * N2:Nat) = 0 or (N2 * N1) = 0 implies (N1 =0 or N2 = 0) .
(CC(NT * N2) = 0) or ((N2 * N1) = 0)) implies ((N1 = 0) or (N2 = 0))):B ool
--> (((N2:Nat * N1:Nat) = 0) xor (true xor (((N1 = 0) and ((N2 = 0) and ((N1 * N2) = 0)))
xor (((NT =0) and ((N2 * N1) = 0)) xor ((N2 = 0) and ((N2 * N1) = 0))))))
** Abstracted boolean term:
(('P -1:B ool and ‘P -3:B ool) xor ((‘P -1 and ‘P -2:B ool) xor ((‘P -1 and (‘P -3 and ‘P -2)) xor (‘P -1 xor
where
‘P -1 = ((N2:Nat * N1:Nat) = 0)
‘P -2 = (N1:Nat = @)
‘P -3 = (N2:Nat = @)
- AUCERIEERE UEBEL (LAITE N1:Nat * N2:Nat = 0(ZF L T'P -1) THIRI{IEETNS.

bshow AV F

* bshow O¥ >~ R(E binspect AV Y R TIEELZEZHFY 3.
- BX
bshowd ¥ K ::= bshow [{ grind | tree }]
« E17HI-1
bshow (F5E(Z binspet THEE L 7zBoollEZ XTI 3.
CafeOB J> bshow
(('P -1:B ool and ‘P -3:B ool) xor ((‘P -1 and ‘P -2:B ool) xor ((‘P -1 and (‘P -3 and ‘P -2)) xor (‘P -1 xor ti
where
‘P -1 = ((N2:Nat * N1:Nat) = 0)

‘P -2 = (N1:Nat = 0)
‘P -3 = (N2:Nat = 0)
- E17H1-2

2723 vs | grind ZIEET 3 &, XORFEROBAIRZEM Y % and TREENLIRZEN

LTERTRID. KLY IDEOBEZIBEIT 3 OHICENTHS.
CafeOB J> bshow grind

>> Xor ***>

true

>> and --->

‘P -1 = ((N1:Nat * N2:Nat) = 0)
‘P -2 = (N1:Nat = 0)

‘P -3 = (N2:Nat = 0)



>> and --->
‘P -1 = ((N2:Nat * N1:Nat) = 0)
‘P -2 = (N1:Nat = 0)

>> and --->
‘P -1 = ((N2:Nat * N1:Nat) = 0)
‘P -3 = (N2:Nat = 0)

‘P -1 = ((N2:Nat * N1:Nat) = 0)

P——

- X1761-3

AT aVE D tree ZIEET B &, MRILLUZBoolHNAREEZ IBEL LI VWEATHFT
3.

bshow tree

_Xor_
_and_
‘P -1:B ool
‘P -3:B ool
_Xor_
_and_
‘P -1:B ool
‘P -2:B ool
_Xor_
_and_
‘P -1:B ool
_and_
‘P -3:B ool
‘P -2:B ool
_Xor_
‘P -1:B ool
true
where
‘P -1 = ((N2:Nat * N1:Nat) = 0)
‘P -2 = (N1:Nat = 0)
‘P -3 = (N2:Nat = 0)



2.3 bresolved VK

+ bresolve (& binspect AV Y R THITNRE U TIEE LZIED xor DEBFIIEIC true & false
DEHFEDEERAL, BRELT true L3 L SHHEIEDEE BRL, ZOB/REXRRT

3.
- BX
bresolved ¥ K ::= bresolve [ <number> | all ]
- 17611

ZF 7 a VB <number> (& true F7z1d false ZEIIRIBIUEHOEHF SO B DOEHZIEET
3. BELRWEEDOT 74 KE1THD, CHOBEEHRIESINEZBoolEICHIRYT Z{EAR D

UEECZWVWL T true £zl false ZRAL, EEDBERN true ERBZ3TDZEET.
CafeOB J> bresolve

** (1) The following assignment(s) makes the term to be 'true’.
[11 { ‘P -1:B ool |-> false }
where

‘P -1 = ((N2:Nat * N1:Nat) = 0)

[2] { ‘P -2:B ool |-> true }
where
‘P -2 = (N1:Nat

0)

[3]1 { ‘P -3:B ool |-> true }
where
‘P -3 = (N2:Nat
.« E17HI-2
Z 723 VI8 <number> (C all ZIBET B &£, ETHABER true/false DIEFEDHEICDN
TEHE L, BRI true EBRBZ3RAZTET.

bresolve all

0)

** (1) The following assignment(s) makes the term to be 'true’.
[11 { ‘P -1:B ool |-> false }
where

‘P -1 = ((N2:Nat * N1:Nat) = 0)

[2] { ‘P -2:B ool |-> true }
where
‘P -2 = (N1:Nat = 0)

[3]1 { ‘P -3:B ool |-> true }

where



‘P -3 = (N2:Nat = 0)

** (2) The following assignment(s) makes the term to be 'true’.
[1]1 { ‘P -1:B ool |-> true, ‘P -2:B ool |-> true }
[2] { ‘P -1:B ool |-> false, ‘P -2:B ool |-> true }
[31 { ‘P -1:B ool |-> false, ‘P -2:B ool |-> false }
where
‘P -1 = ((N2:Nat * N1:Nat) = 0)
‘P -2 = (N1:Nat = 0)

[4] { ‘P -1:B ool |-> true, ‘P -3:B ool |-> true }
[5]1 { ‘P -1:B ool |-> false, ‘P -3:B ool |-> true }
[6] { ‘P -1:B ool |-> false, ‘P -3:B ool |-> false }
where

‘P -1 = ((N2:Nat * N1:Nat) = 0)

‘P -3 = (N2:Nat = 0)

[7] { ‘P -2:B ool |-> true, ‘P -3:B ool |-> true }
[8] { ‘P -2:B ool |-> false, ‘P -3:B ool |-> true }
[9] { ‘P -2:B ool |-> true, ‘P -3:B ool |-> false }

where
‘P -2 = (N1:Nat = 0)
‘P -3 = (N2:Nat = 0)

** (3) The following assignment(s) makes the term to be 'true’.
[11 { ‘P -1:B ool |-> true, ‘P -2:B ool |-> true, ‘P -3:B ool |-> true }
[2] { ‘P -1:B ool |-> false, ‘P -2:B ool |-> true, ‘P -3:B ool |-> true }

[31 { ‘P -1:B ool |-> true, ‘P -2:B ool |-> false, ‘P -3:B ool |-> true }
[4] { ‘P -1:B ool |-> false, ‘P -2:B ool |-> false, ‘P -3:B ool |-> true }
[5] { ‘P -1:B ool |-> true, ‘P -2:B ool |-> true, ‘P -3:B ool |-> false }
[6] { ‘P -1:B ool |-> false, ‘P -2:B ool |-> true, ‘P -3:B ool |-> false }
[7] { ‘P -1:B ool |-> false, ‘P -2:B ool |-> false, ‘P -3:B ool |-> false }
where

‘P -1 = ((N2:Nat * N1:Nat) = 0)

‘P -2 = (N1:Nat = 0)

‘P -3 = (N2:Nat = 0)

2.4 bguessAVYVFK

* bguess ¥ Y F(J binspect IV Rl L > TIHETN/Z Bool HICK L T EEHSH/SN TV
BEONDOERGEASEZERULBREZRANS.



- B

bguessO V> K ::= bguess { imply | and | or }

« 7611

BlE imply ZHEELRZIEBEES, WRIL L& Bool HICEFEND BUEHE p, q (DL
Tp implies q = true AWML T D ERELZRIC BRENE SLBEIHNEFANR, true L1532 %5
BEOREZLNEOEATHIZL TRY.

CafeOB J> bg imply

** (1) each of the following equations makes the inspected term ’true’
[1] eq [:bimply ]: (‘P -1:B ool and ‘P -3:B ool) = ‘P -1 .
where

‘P -1 = ((N2:Nat * N1:Nat) = 0)

‘P -3 = (N2:Nat = 0)

[2] eq [:bimply ]: (‘P -1:B ool and ‘P -2:B ool) = ‘P -1 .
where
‘P -1 = ((N2:Nat * N1:Nat) = 0)
‘P -2 = (N1:Nat = 0)
« LOBHIDO K SI(C bguess (& bg EREFRT D EMTES.
* p implies q = true (& XOR ZEEZHUL\z p and q = p (CREBNICEMTHS. BROHF
Tl XOR ZEEZRAW A THFT 3.

- and

bguess M5 E LT and ZIBELZIBE(E, p and q = false EVWSTED (REEBALZIES
([CI/ERMESEBINZERANRS.

* or

bguess ME|EE L Tor ZIBELZIHBSE, por q = true EVWSTED (REZEALRZBSIC
BRNESKRIHNERARNS.
- BEFTNHEZ S, 5lfand wor (LK D ERGHBENDHERENTERAIEEE LKL,
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